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Directions (Q. 11-12) : Choose the correct opposite word out of the four options:

Jejune

Aj] Sophisticated B) Arrogant C) Delightful D) Indifferent

Jeopardy

A) Validity B) Piety C) Safety D) Tactfulness
Directions (Q. 13-14): Choose the correct synonyms of the following words out of the four given

options:

In]zprovised

A) Imprudent B) Unstudied C) Incautious D) Oblivious

Maverick

A) Materialist B) Spiritualist C) Selfish D) Nonconformist

Directions (Q. 15 -16): Mark out of the four given choices, the correct meaning of the italicized

15.

16.

idioms/ phrases:
A fly on the wheel
A) a person who overestimates her/his importance B) a person who cautions the people

C) a person who is hostile to all D) a person who entertains others
To be under the harrow

A) to work hard B) to be awarded for honesty

C) to be in distress D) to be in good health

Directions (Q. 17 - 18): Choose the correct preposition, out of four options, to be filled in the

17.

18.

blanks of the following sentences:

His speech was appropriate the occasion.

A) upon B) to C) about D) for
Radhika’s aptitude __ business cannot be doubted.

A) to B) about C) at D) for



Directions (Q. 19 - 20) : Choose the correct form of the following words as the given part of the
speech out of given options:

19.  Down as noun:
A) Down went the “Titanic”. B) Shyam has seen the ups and downs of life.
C) The porter was killed by the down train. D) The engine came rushing down the hill.

20. But as adverb:

A) It is but right to admit our faults. B) We tried hard but did not succeed.
C) None but the brave deserve the honour. D) There is no one but likes him.
21.  'Who was the first women Governer of India?
A) Sarojini Naidu B) Annie Besant
C) Suchitra Kriplani D) Vijay Laxmi Pandit
22. India’s rank in World Competitiveness Index 2022 is:-
A) 591 B) 47" )43 D) 37"

23.  Which one of the following clouds is a rain-bearing cloud?
A) Cumulus Cloud B) Stratus Cloud C) Cirrus Cloud D) Nimbus Cloud
24. Section 498 A of Indian Penal Code deals with

A) Harassment for dowry B) Property rights to women
C) Kidnap & Rape D) Reservation for women
25.  Which of the following is the First Indian Women to win Olympic medal
A) P.T. Usha B) P. V. Sindhu C) Karnam Malleswari D) Mary Kom
26. Identify the correct sequence of priority in the system of education?
1) Student i1) Teaching method i11) Aims of Education iv) Teacher
v) Teaching learning material
A) i, ii, iii, iv, v B)iv, i, ii, iii, v Q) iii, 1, 1v, v, i D) v, iv, iii, i, i
27.  Match the following methods of teaching with their meaning.
List I List I1
1. Oral presentation of information, principles, concepts, ideas about a topic| a) Brainstorming
2. Sharing experiences, ideas and attitudes b) Project
3. Generating as many ideas without judging them c) lecture
4. A whole — hearted purposeful activity proceeding in a social environment| d) collaboration
¢) discussion

A) la, 2b, 3¢, 4d B) 3a, 5b, 1¢, 2d C) 5a, 4b, 3¢, 2d D) 3a, 4b, 1c, 2d
28.  Good teaching is best reflected by:

A) Attendance of students B) Number of distinctions

C) Meaningful question asked by students D) Pin- drop silence in the class
29.  The most important indicator of quality of education in an educational institute is:-

A) Infrastructural facilities of a school B) Student achievement level

C) Textbook and teaching- learning material D) Classroom system

30.  “Spare the rod and spoil the child’- this assumption is related to the type of discipline which
has been advocated:-

A) By naturalist philosophy B) In Victorian Era
C) By pragmatist philosophy D) In Democratic Era
31. 125% 0f320+7? % of 125 =440
A) 46 B) 42 C) 50 D)32

32.  The price of a car is T 325000. It was insured to 85% of its price. The car was damaged
completely in an accident and the insurance company paid 90% of the insurance. What was
the difference between the price of the car and the amount received?

A) 32500 B) ¥ 48750 C)X 76375 D) % 81250

33. The average price of 10 books is ¥12 while the average price of 8 of these books is Z 11.75.
Of the remaining two books, if the price of one book is 60% more than the price of the
other, what is the price of each of these two books?

A)%5,27.50 B) %8,%12 C)T10,%6 D)% 12,214
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A'sshare _ B'sshare _ C's share

A sum of 1300 is divided amongst A, B, C and D such that

Then A’s share is

A)% 140 B) 2160 C) %240 D) ¥ 320

A cloth merchant sold half of his cloth at 20% profit, half of the remaining at 20% loss and
the rest was sold at the cost price. In the total transaction, his gain or loss will be

A) Neither loss or gain B) 5% loss C) 5% gain D) 10% gain
The difference between the amount of compound interest and simple interest accrued on an
amount of ¥ 26000 at the end of three years is T 2994.134. What is the rate of interest
percent per annum.

A) 22% approx B) 17% approx C) 19% approx D) Can’t be determined
A can do a piece of work in 12 days. A and B completed the work together and were paid
54 and ¥ 18 respectively. How many days must have they taken to complete the work?

A) 8 days B) 9 days C) 10 days D) 12 days
Three pipes A, B and C can fill a tank in 6 hour. After working at it together for 2 hours, C
is closed and A and B can fill the remaining part in 7 hours. The number of hours taken by
C alone to fill the tank is

A) 10 B) 12 C) 14 D) 16

Without any stoppage, a person travels a certain distance at an average speed of 42 km/hr
and with stoppages he covers the same distance at an average speed of 28 km/hr. How many
minutes per hour does he stop?

A) 14 minutes B) 15 minutes C) 28 minutes D) 20 minutes

A jar contains a mixture of two liquids A and B in the ratio 7 : 5. When 9 litres of mixture
are drawn off and the jar is filled with B, the ratio of A and B becomes 7 : 9. How many
litres of liquid A was contained by the jar initially?

A) 25 B) 21 C) 20 D) 10

Find the odd number from the given alternatives:

10, 13, 234, 681, 997

A) 10 B) 234 1 D) 681

If ‘A § B’ means ‘A is brother of B”, ‘A @ B’ means ‘A is wife of B’, ‘A # B’ means ‘A is
daughter of B’, ‘A * B’ means ‘A is father of B’, then which of the following expressions
indicates the relationship ‘K is father - in- law of H*?

AYH@JSL#P*K BPH@JSP*L#K

COH@JISL#K*P DDH@PS$J*L#K

Eleven students A, B, C, D, E, F, G, H, 1, J and K are sitting in the first row of the class
facing the teacher. D who is to the immediate left of F is second to the right of C. A is
second to the right of E, who is at one of the ends. J is the immediate neighbour of A and B
and third to the left of G. H is to the immediate left of D and third to the right of L.

Which of the following statements is true in the context of the above sitting arrangements?
A) There are three students sitting between D and G.

B) K is sitting between A and J.

C) B is sitting between J and L

D) G and C are neighbours sitting to the immediate right of H.

Rajat is fifteenth from the front in a column of boys. There were thrice as many behind him
as there were in front. How many boys are there between Rajat and the seventh boy from
the end of the column

A) 33 B) 34 C) 35 D) Data inadequate
Find the number of triangles in the given figure:

/N

A)11 B) 13 C)15 D) 17

2
B’s share - C's share ] D’s share 3
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Which of the following statement(s) is/are true with regard to word processing software?
P: Word Art is set of images provided by Microsoft office, which can be used in the document.
Q: Clip Art is stylish text styles provided by Microsoft office.

A) P only B) Q only C) Both P and Q D) Neither P nor Q
The value of the cell containing the formula = SUMIF (Al:A6, ">50", B1:B6) in the
following Excel worksheet is:

o A B C
3 i 45 35
20 30 85
3 75 10
4 i5 55
5 25 20
6 65 15
-
A) 45 B) 195 )25 D) 210

Microsoft Office PowerPoint comes with several categories of built-in transition effects.
Which of the following is not a type of transition effect supported by Microsoft
PowerPoint?

A) Subtle B) Speed C) Exciting D) Dynamic content

In Windows Operating System, Disk Defragmenter utility:

A) Regroups fragmented sectors on a hard drive.

B) Regroups pieces of files together on a hard drive.

C) Compresses fragmented files.

D) Both A) and C)

Which of the following lists memory types from highest to lowest speed?

A) secondary storage, main memory, L2 cache, registers

B) registers, L1 cache, secondary storage, main memory

C) registers, L2 cache, main memory, secondary storage

D) L1 cache, registers, main memory, secondary storage

Which of the following mountains is located near the river Dhauliganga

A) Nanda Devi B) Anamudi C) Hathi Darvat D) Kamet
Which of the following Himalayan peaks is NOT located in Nepal:

A) Mount Everest B) Kamet C) Annapurna D) Makalu
Sardar Sarovar Dam is situated in the state of and on the river

A) Gujarat, Narmada B) Maharashtra , Krishna

C) Uttar Pradesh, Ganga D) Rajasthan, Chambal

The McMahon line is a line which separates China and which Indian State:

A) Sikkim B) Uttarakhand C) Jammu and Kashmir D) Arunachal Pradesh
In which Seismic Zone is the Union Territory of Chandigarh situated:

A) I B) IV Cc)V D) VI
How many states border with Chattisgarh

A)S5 B) 6 C)7 D) 8

Zero mile centre in India is in

A) Jhansi B) Bhopal C) Nagpur D) Raipur

Which one of the following points is said to be the lowest point in India

A) Kuttanad B) Kakinda C) Kurnool D) Kadapa
Which of the following is not a component of Human Development Index:

A) Life Expectancy B) Expected and Average years

C) Infant Mortality Rate D) GDP per capita

Development that meets the needs of the present without compromising the ability of future
generations to meet their own needs is :

A) Human Development B) Sustainable Development
C) Steady State Development D) Holistic Development
The shape of Indifference curve if MRSxy is Zero:

A) Parallel to X-axis B) Parallel to Y-axis

C) Downward sloping straight line D) Indeterminate
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Income Elasticity of demand for necessities is :

A) Zero B) One C) Between 0 and 1 D) More than one
Quasi Rentis :

A) Total Revenue — Total variable Cost B) Average Revenue — Average Cost

C) Total Earning — Transfer Earning D) Actual Earning — Transfer Earning
MPS of an economy is 2/3™ of its MPC, the Multiplier will be :

A) 15 B) 3 C) 0.6 D)2.5

The total foodgrain production in India in 2022-23, according to recently released advanced
estimate is approximately:

A) 325.75 million tones B) 330.5 million tones

C) 315.7 million tones D) 320.5 million tones

Which is systematic record of all the economic transactions between one country and rest of the
world:

A) Balance of trade ~ B) Balance of transactions ~ C) Budget D) Balance of payments
The falling of bank rate by Reserve Bank of India leads to :

A) less liquidity in the market

B) more liquidity in the market

C) mobilization of more deposits by the commercial banks

D) no change in the liquidity in the market

What is the base year of All India Conusmer Price Index?

A) 2011 B) 2012 C) 2014 D) 2016

As per 2011 census, about what percent of the total workforce in India was engaged in
agricultural and allied sector activities?

A)42.8 B) 54.6 C) 62.4 D) 68.2

Which of the following period, is most associated with Chandra Gupta Maurya?

A) 498-321 B.C. B) 321-297 B.C. () 297-231 B.C. D) 231-197 B.C.
Who was the eldest son of Guru Gobind Singh?

A) Sahibzada Ajit Singh B) Sahibzada Fateh Singh

C) Sahibzada Jujhar Singh D) Sahibzada Zorawar Singh

At which session of Indian National Congress the Swaraj Party was formed?

A) Belgaum B) Gaya C) Calcutta D) Lahore
Which one of the following is the correct chronological order of dynasties in which these made
their mark?

A) Nanda Dynasty, Mauryan Dynasty, Sunga Dynasty

B) Mauryan Dynasty, Sunga Dynasty, Shishunaga Dynasty

C) Nanda Dynasty, Mauryan Dynasty, Shishunaga Dynasty

D) Sunga Dynasty, Shishunaga Dynasty, Nanda Dynasty

Where did Lokmanya Tilak first say “Swaraj is my birthright, and I shall have it”

A) Bombay B) Bareilly C) Bengaluru D) Belgaum
Who first used the term Industrial Revolution in France?
A) Frichdrich Engels B) Karl Marx C) Georges Michelet D) Arnold Toynbee

Who invented the first Steam Engine?

A) Thomas Newcomen B) Abraham Darby  C) Richard Arkwright D) Henry Cort
Which two countries were the first to declare war on Germany during World War I1?

A) Italy and Greece B) Britain and France C) Norway and Denmark D) U.S.A and U.S.S.R
During which war did the Russian revolution take place?

A) World War 11 B) Russo- Japanese war C) Napoleonic war D) World War 1
Who did not participate in the revolt of 185772

A) Tatiya Tope B) Rani Laxmi Bai C) Bahadur Shar Zafar D) Bhagat Singh
The Industrial development of India began with the introduction of:

A) Railway B) Textile Mills C) Mining Technology D) Post and Telegraph
Which Lok Sabha was dissolved two-hundred fifty three days before the expiry of its term?
A) 11 B) 12 ) 13 D) 14
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The allocation of seats to various states in the Lok Sabha on the basis of the 1971 census shall
remain unaltered till the first census to be taken after:

A) 2022 B) 2024 - C) 2026 D) 2028

When can members raise matters of urgent public importance in Lok Sabha?

A) After ‘Question Hour’ at 10.00 AM B) Before ‘Question Hour’ at 11.00 AM

C) After ‘Question Hour’ at 12.00 noon D) Before ‘Question Hour’ at 12.00 neon
Which one of the following is the chief source of political power in India:

A) The Constitution ~ B) The Supreme Court C) The people D) The Parhament
The joint sitting of the Indian Parliament is presided over by:

A) President ~ B) Prime Minister ~ C) Chairman of Rajya Sabha D) Speaker of Lok Sabha
Which one of the following is included in Article 51A ( Part IVA) of the Constitution of India?
A) Fundamental Duties B) Suspension of Fundamental Rights

C) Special Powers of Governors D) Writs

Which Articles of the Indian Constitution specify the disqualifications for members of the
Parliament and the Legislative Assembly?

A) 102(1) and 191(1) respectively B) 102(1) and 291(1) respectively

C) 201(1) and 191(1) respectively D) 201(1) and 291(1) respectively

Nothing Like Voting, I Vote for Sure’ was the theme of :

A) 12th National Voters’ Day B) 13th National Voters’ Day

C) 14th National Voters’ Day D) 15th National Voters’ Day

The Universal Declaration of Human Rights was adopted in

A) 1944 B) 1945 C) 1947 D) 1948

Sociology was made possible by the

A) French Revolution B) Renaissance C) Second World War D) None of these

Which one of the following does not directly refer to social development?
A) Process of change  B) Quality of life  C) International trade D) Growth with justice
The unorganised workers Social Security Act was enacted in the year

A) 2006 B) 2007 C) 2008 D) 2009
The most fundamental unit of human society is :
A) Government B) Individual C) Family A D) Peer Group

Community is defined as :

A) Group sharing basic common conditions of life  B) Group residing in a same location
C) Group having a common workplace D) Group having common goals
Which of the following states has lowest percent of Scheduled Tribes to total population of
State?

A) Nagaland B) Mizoram C) Meghalaya D) Manipur
Assertive behaviour includes all except:

A) Interpersonal B) Socially appropriate

C) Expression of thoughts and feelings D) Spontaneous

Four basic techniques of psychoanalysis are:

A) Free association, Analysis of dreams, Analysis of transference, Analysis of resistance
B) Free association, Dream analysis, Analysis of transference, Libido discharge

C) Free association, Dream analysis, Analysis of defence mechanisms, Libido discharge

D) Contlict resolution, Dream analysis, Analysis of libido, Free association

The application of psychological theories, methods and techniques to solve practical human
problems describes as area of psychology known as :

A) Social psychology B) Para-psychology

C) Applied psychology D) Humanistic psychology

Developmental psychologists believe that two factors that influence human development are:
A) Motivation and emotion B) Self and other

C) Genetic make-up and experience D) Rewards and punishment

CAS refers to : :

A) Cognitive attention syndrome B) Cognitive attentional system

C) Cognitive attentional syndrome D) Cognitive attention system
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19-08-2023 Answer key- Social Science

Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans
1 A 26 C 71 A 76 A
Z D 27 B 52 B 77 B
3 B 28 C < A 78 D
4 B 29 B 54 D 79 D
5 C 30 B 55 B 80 A
6 D 31 D 56 C 81 C
7 B 32 C X7 C 82 C
8 B 33 C 58 A 83 C
9 B 34 B 59 C 84 C
10 C 35 C 60 B 85 D
11 A 36 C 61 A 86 A
12 C 37 B 62 C 87 A
13 B 38 C 63 A 88 B
14 D 39 D 64 D 89 D
15 A 40 B 65 B 90 A
16 C 41 D 66 D a1 C
17 B 42 C 67 B 92 C
18 D 43 C 68 B 93 C
19 B 44 C 69 B 94 A

20 A 45 C 70 B 95 D
21 A 46 D il A 96 D
22 D 47 C 72 B 97 A
23 D 48 B 73 A 98 C
24 A 49 B 74 D 99 C
25 C 50 C 15 C 100 C




